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Q:-1- Find the factors of 330

330 o UGS AT hITST0?

(a) 2x4%x5x11
(b) 2x3x7x13
(¢) 2x3x5x13

(d) 2x3x5x11
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Q:-2- Find the factors of 360
360 o TUHEE ATT shITST?
(a) 2x2%x2Xx2%x3%X5
(b) 2x2%2x3%x3%5
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QQ:-3- Find the H.C.F of 63 and 84 ?
63 3R 84 T HT HEAH THTASTdh AT hi?

(2) 4
(b) 6
(c) 12

(d) 7
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Q:-4- Find the H.C.F of
1. 2*x3%x5°
2. 23x32x5%x7

3. 2%x34x5x72x11

(a) 2°x3°%5
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(d) 2*x34x5°x7x11
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Q:-5- Find the lowest common multiple of 24,36 and 40?
3T: 24, 36 TAT 40 T TITH THTGA AR T I ?

(2)240
(b)260
(€)360
(d)270
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3aT: 108, 288 AT 360 HT HETH HHTUSh T hil ?
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Q:-7- Ex : Find the higher common factor of 513,1134 and 1215?
3aT: 513, 1134 9AT 1215 HT HSTH HHTUS Ak JTd Hil 2

(a)24
(b)18
(c)36

(d)27
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Q:-8- Find the lowest common multiple of 16,24,36 and 54?
34T: 16,24,36 TAT 54 T TIAH AHTTSIR Tl ?

(a)432
(b)440
(¢)600

(d)700
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Q:-9- find the LCM of %,%and % ?

34T %,%w% RT TITH THTAAER AT Rl ?
(a) 42
(b)18
(c)45

(d)46
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y 32
Q: -10 find the HCF of — ,12 and — ?

3qT: E 12 Tt T HEH QUTISdeh [T il ?
(a) 2/245
(b)1/240
(c)4/245

(d)2/295
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14 42 yA
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14 42 21 33 55 22

: —— , = AT —— T HgAH THTITAh AT B ?
3355 " 22 Sl
14

(a) ﬁ

-
®330

330

7

d330
(D7

3qT

©)



TARGET MATHS- 25/25

14 42 yA

Q:-11- find the HCF of , and — ?
14 42 21 33 55 22

: —— , = AT —— T HgAH THTITAh AT B ?
3355 " 22 Sl
14

(a) ﬁ

3qT

330

©)

d330
(D7



TARGET MATHS- 25/25

Q:-12- Find the lowest common multiple of 0.36,1.2, and 4.8?
3qT:- 0.36,1.2, TAT 4.8 THT TTIAH THTIAAE ATA ol 2

(2)14.4
(b)12.5
(c)15.5

(d)13.5
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TARGET MATHS- 25/25

Q:-13- The H.C.F. of two numbers is 8. Which one of the following can never

be their L.C.M.?

3aT: gfe a7 TEaTei ST {1, § § a6 e o O Al & G&AT 37T .4, 781 2l

Hehdl ?

(a) 24
(b) 48
(c) 56
(d) 60
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Q:-14- Find the least number which when divided by 6,7,8,9 and 12 leaves the

same remainder 1 in each case?

3aT: 9E BT W BT WEAT JATT Kl "R 6,7,8,9 AT 12 ¥ fr9T=ifd v w1

T RAfd o ¢ T gar e 2

(a)504
(b)505
(c)405

(d)450
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QQ:-14- The HCF of two numbers is 24. The number which can be their LCM
is
34T: 31 HEAT HT AT, 24 T a7 3T TEATAT 6 .07 BT Tehd &
(a) 84
(b) 120
(c) 128

(d) 148
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Q:-15- Two number are in the ratio 3:4 and the product of their LCM and
HCEF is 10800, find the sum of the numbers ?

ITT: N AGATSAT ST AT 3:4 B TATIAh TIaH GHTISAR R AEAH
FHTIAAH ST TUHEAEA 10800 T, T TE T HEATT T AT FTA &l ?

(a) 240
(b) 270
(c) 260

(d)210
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Q:-16- The H.C.F. and L.C.M. of, two numbers are 4 and 24 respectively. If

one of the numbers is 12, then the other number is
St TSl o WgTH AHTIdh SR CTgwH THTIEE shusl: § 3R 48 ¥ af T
HEAT 24 &, T O WA 1 82
(a) 16
(b) 8
(c) 4
(d)2
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Q:-16- The H.C.F. and L.C.M. of, two numbers are 4 and 24 respectively. If

one of the numbers is 12, then the other number is

3t HEATSAT o WETH THTISh SR oTHTH THTIS HA: § 37 48 ¥ af u
HEAT 24 2, A TAQ HEAT F4T 72

DK
(c) 4
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